£61[H

RERBFFEL—XELBERANKEFEXS

15-%F

F214E8F20H (X)

-21H (£)

- 228 (£)

HE—EXx (k23— F : 09281002) AL NN—ERBEE (BEET— F - 281050)
Bt L] 14 24 3 4 54 61 714 81
218 100m |/MNEEEH 1 1311 [ E%HE 1 13.12[hg BF 1 13.36 [F1E B 1 13.38 [fE mE 1 13.54 |NiE =W 1 13.55 [2% A 1 13.71 [AR HE 1 13.77
B:-2.0 |BAEHE EH e SERRE JLEEE il eI I
28| 200m |/MNEBEEH 1 25.34 |FARBHE 1 25.61 |fnE B 1 26.21 | EFEHE 1 26.39 |PrH % 1 26.50 |INR BF 1 26.56 [MATFC 23 1 26.88 |FIEBD 1 27.07
k B:-0.2 |BEHA [l WERRTE B =91 PN L] MEIE AR
08| 400m [HADERE 1 50.21 [#0  EA 1 50.88 |£H WE 1 1:00. 71 /M0 1 1:01.60 |BwINEBD 1 1:01.74 [$R3F = 1 1:03.01 [mep 2 1 1:03.03 [1%F 44 1 1:03.75
SERRE EH EE s PR SRR TE wWEEES I BRI
|22 8o0o0m |HM EE 1 2:16.36 |BIR SXF 1 2:18.48 SIARC EH 1 2:18.62 |3 EfE 1 2:21.52 |FHF EHk 1 2:21.56 [WE BE 1 2:22.87 |[=& {-F 1 2:26.48 [FRAXFIE 1 2:27.16
K &z T SE R SERRTE Bl AEZE LE=E KBER
08| 1500m [0 BHR 1 4:30.32 |[@EHMY 1 44111 |58 HE 1 4:41.96 |[EBERT 1 4:40.28 STAC &R 1 4:49.31 |HA HHxk 1 4:53.50 |[BIR XXF 1 4:53.77 B BE 1 4:53.78
BEHE wHT E]:] =K SERRE BUll I BEZE
v 28] 3000m [®D HEk 1  0:58.36 |[@EHBMNY | 10:02.67 HBERT | 10:08.19 [ATFAETF 1 10:00.40 |[ZHKEM 1 10:21.84 M Z=E 1| 10:33.68 [RAJIG&H 1 10:35.76 [THEP=D 1 10:36.71
BEHE FHT =k BERNE 3] BB EE R
28| 100mH |#@ AF 1 15.13 [Ex mE 1 15.21 [#K BT 1 15.52 |8k ARk 1 15.54 |@@A xX& 1 15.60 [fg1E =2 1 15.84 [BFTF&< D 1 15.95 [@3 »E 1 16. 69
B:-0.3 |@F BEH RBZE wmEEES LiE=m A EH4 fiksd
5 218 400mH [MARDERE 1 1:03.92 [BE X& 1 1:06.07 |85 ¥ 1 1:07.11 |[RXE F& 1 1:08.39 [B1%F F44 1 1:00.43 [HFF&<H 1 1:09.53 Mg K2 1 1:10.84 [t K 1 1:11.32
SERRE LE=MA B | I TR EH4 wmEgEs WESHWE
08| 3000mW |THEWED 1 16:03.85 |fIMZsiEE 1 16:58.91 |gch =48 1 17:08.72 |Iuch @R 1 18:07.12 |&Jil 8 1 18:13.72 [K#LwY 1  18:51.00 |RE&HDH 1 20:00.14 [ZEZ 5 1 20:59.54
W NGR | BERAE BERNE LiE=m LE=MA W HEE mHEE
228 EEH @A AT m68 [EADEF 1 56 |/INF HE 1 1m53 [ILAZLZF 1 53 [=E B 1 m53 [FEil & om 1 M50 | 7he: RREZSERE 1 Imdb |7 KE 1 1mds
B EIE= Rt WEBEE B | AH SRR TE AR SHREME wWEEES
e EEB | FEHERE 1 5m58 | EAEME 1 5m49 [kBE B 1 5m24 |15 BT 1 5m21 [FR3E M3 1 5mi4 |[{EBEADY 1 5mi2 [FEVOAD 1 5m04 |EANETF 1 4m98
EH +1.8 |HIRIE +0.8 |REEHRE +1.9 |8 +2.8 W +0.7 | I T ks +3.1 |8 -0.1 |[WFE +1.5
|| 228 mAE  |EE B 11m06 | AN £ 75 1 10m88 | %% #WE 1 ome4 B &KEH 1 10m40 \LF Hs 1 10m33 [f@ kA 1 10m26 |#reh BEEE 1 Ime0 [#F =7 1 9m30
s W EH B/ A& W i K2 el
L 218 miEE (s 1 38y | RE 1 32m60 |FRF K& 1 30m92 [4REF A1 1 30mo1 [#8E @ # 1 30me2 &  BEE 1 20m95 %% WE 1 28mB8 |A%H B 1 2875
W THE W SHREE s WESE EH wEL
k(208 vy @R T 40m54 |MEEIEE 1 364 |BA EHE 1 36m00 |7 HE 1 33m92 LA BAE 1 3om62 |B  KE 1 3Iml4 |KF BE 1 3Im01 [#AEHEF 1 30m85
BIE= NGR |22 WEBE TSRS s ZPES NS EE
wooa A 193 & ] 129 & G 93/ BAEHA 68/ BEZE 478 BHAA 284 BERNE 284 ClE 278
R 1 =3 ] 574 B 514 e & 484 AR 32% LE=E 224 BERMNE 184 ENEZ 164 [icgy: < - 148
2 & e 120 & ] 66 & BEZE 438/ R 5 428 BEHA 234 S 218 BHAA 174 1t A B 164
e M RERBSFRUETER
X S8 | RA-EZ | BE | NR: AL%ER SOE R LEBE®S
e i 31.0C | 1.4m| 57% | EGR. A2MESR T RERESSRIKEEER S
208 EFH =3 30.5°C | FdLEE  1.9m|  59% ®E B F O M 4
BRI THE (17:30) ) 29.0°C | F# 2.3m 4% E=aF
TR 2 28.5°C | 3tdk# 1.3m| 80% wR HFE 1 GENED) A L @O %
218 EFH £ 31.0°C | Eadg 3.7m| 75% Py EHRE: . H &
S g 28.5°C | FAIE  2.2m | 4% BEEME: @ h B B
BB 2 29.0°C | E® 1.5m | 81% RTEFEHRE: H_H R K
228 EFH £ 30.5°C | & 2.5m|  65% EHEFA£:FE B B OB
B T B 29.5°C | AR 2.3m| 4%




